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y= jf(x)dx+ C
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Notice:
¥~ ¥ ODE fi #£%
d2
dxg} - f(x)
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d’y
dx?

gy AT I dx = If(x)dx+ C,
d
d—z = [ f(x)x+C,

ST T jdyd mf dx+C]a’x+C

y= ”f(x)dxdx +Cx+C,
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SRERATHLE ! 6 [ AR @ y =9.81 > 3(0)=y, dy—(o)zvo :

dt
()
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g+
d’y

FY- WS Idﬁ dt = [9.81dt+C,

= -9811+C,

dt
By AT jﬂdt=‘[9.81tdt+clt+cz

dt

y=4905¢>+Ct+C,

S ELHRELY S - FLREREE 7(0)=, ‘dyT(tO)zvo Sl ST SR R

F"[ it Elffﬁ #e(Particular Solution) -

e {yo =49050) +C,(0)+C, | oy {Cl =7,

o PRI Y RLFY Y T
v, =9.81(0)+C, C, =y, o [P g R PR O A

y=4.905¢" +v,t+y,
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1. Assume that x’+x—3sin’ y—exp(l] =20. Regarding y as a function of x, find @
y

2.

(90 { i ek 10%]

R SN T SR TE RN
equatlon) ?

(a) F(xy'y) 0
(b) F(»,5,»")=0
(©) F(y,)"»")=0
(d) F(xy, ) 0

(e) [ I—JF- [ [

Bh— PEpYEss A

dx

[* Ry — MEpY 5y A=Y (first-order differential
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